
ü Inéquations réductibles au premier degré

Résoudre

1L H3 - xL H2 x - 1L § 0
2L H3 - 4 xL H5 x - 7L > 0
3L -5 Hx - 7L Hx - 1L x ¥ 0

4L H5 - xL H2 x + 1L2 > 0
5L H5 - 3 xL x2

ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ
2 x + 3

¥ 0

6L 4 x2 - 9
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ

x + 1
¥ 0

7L H3 - 4 xL H1 - x2L
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ

x Hx + 2L § 0

8L x3 H3 x + 1L H3 x + 2L
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ

x - 3
> 0

9L x Hx2 - 9L § 9 - x2

10L Hx - 1L Hx + 4L ¥ Hx - 2L Hx + 1L
Solutions:
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